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Wrte your name, centre number and candidate number on the answer sheet in the
spaces provided unless this has already been done for you.

Thece are forty questions in this paper. Answer all questions. For each question, there are
fr possible answers, A, B, C and D. Choose the one you consider correct and record
s choice in soft pencil on the separate answer sheet.

{

Resc very carefully the instructions on the answer sheet.
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Eacn correct answer will score one mark. A mark will not be deducted for a wrong answer.
#ry -ough working should be done in this booklet.

A —py of the Periodic Table is on page 10.

€Call phones are not allowed in the Examination Room.

This question paper consists of 10 printed pages.
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A piumber needs to measure the internal diameter of a water pipe as accurately as

possible. The instrument that should be used is the «..
A  vemier calipers

B  engineer’s calipers

C  measuring tape

D  metre rule

2  Starting from rest at t=0, an object moves in a straight line with a constant acceleration
of 2cm/s?. At what time is the speed of the object 20 m/s?

A Os

B 1s

C 2s

D b&s

3 Which property of a body cannot be changed if a force is applied to it?

A  velocity

B volume

C shape

D mass

4  Give the name of the force which gives a mass of 1kg an acceleration of 1m/s?.

A Weight
B Friction
C Newton

D Centripetal force

5 Aload is to be moved using a wheelbarrow. The total mass of the load and
wheelbarrow is 60kg. The gravitational field strength is 10N/kg -«

Wheel barrow 4F
]
Pivot 1
e -] Weight :
- LOAD- I
1/ i
e ——— |
>4 I
<+——— 70cm —s s 50cm ——>

What is the size of force F needed just to lift the loaded wheel barrow?

A 350N
B 430N
C 600N

D 840N

Science/5124/1/Z/2010



Page 3 of 10

The diagram below shows a copper disc X with a circular hole Y.

When the disc is heated ¢+«

A the area of x increases and the area of y decreases

B the area of x decreases and the area of y increases

C xandy have the same area as before

D the area of x increases and the area of y stays the same

Which of the following contains the molecules with the highest average speed?

A B C D
D
Ice cube at-10°C  Wateratroom  Wood at room Steam at 110°C

temperature temperature

The diagram below shows the cross-section of a water wave.

+2

Displacement (mc)

The values that correctly represent the period and frequency of this wave are

Period (s) Frequency (HZ)

shown s ee

A 0
B 1
C 1
D 2

1

1
2
1

A typist uses new carbon-paper under her top typing paper for making a copy of a
letter. When she holds the carbon-paper close to a plane mirror, she can read the
letter. This is because the mirror ¢«

A  produces a laterally inverted image

B forms an image the same size as the object
C forms a virtual image

D forms an image the same distance

Science/5124/1/Z2/2010
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10 Echo-sounding equipment on a ship receives sound pulses reflected from the sea bed
0.03 seconds after they were sent out. If the speed of sound in sea water is 1500m/s,
what is the depth of water under the ship?

A
B
Cc
D

22.5m
45.0m
25 000m
50 000m

11 Which of the following units is the same as a coulomb?

A
B
c
D

V/IA
As
WS
VIQ

12 A metal ball is charged by induction. To do this, a positively charged rod is held close
to one side of the ball and the other side is earthed.

The diagram that shows the charge distribution at this stage of the experiment is ««.

13

What readings are shown by the voltmeters V4 and V,?

Vi Vs
A 2V 2V
B 4v 2V
c 2V 4V
D 4V \Y,

Science/5124/1/2/2010
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14  Which of the following equations cannot be used to determine electrical energy?

A E=VQ
B E=Vit
C E=PRt
2
D E = X_t

1

15 An electrical appliance is rated 250v, 500w. Find the cost of using this appliance for
120 minutes if electrical energy costs K100 per unit.

A K100
B K200
C K800
D K1200

16 Study the figure below and answer the question that follows.
Coil of wire

Slip-rings

Carbon brush

The figure ¢«

A represents a direct current generator

B  requires current for the coil to rotate

C  produces current by electromagnetic induction

D uses a commutator to produce an alternating current
17 An ideal transformer (one which is 100% efficient) ¢«

A changes a.c.tod.c.

B  does not lose any energy.

C has same number of turns in primary and secondary.
D has more power in secondary than in primary.
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18 The figure below represents a Cathode Ray Oscilloscope.

— —_ = :_—..—_-1/
Bl s

heater

I

\Screen

A B C D x-plates
Which of the parts labeled A, B, C or D accelerates the electrons towards the screen?

19 The fact that it is a matter of pure chance whether or not a particular radioactive
nucleus will decay during a certain period of time implies that radioactive decay is «+.

A  atime consuming process.
B arotten process.

C arandom process.

D aregular process.

20
L3

e

The symbol above is used to warn of the presence of ««.

A gamma rays.

B radioactive material.
C cancer cells.

D radiation burns.

21 Diffusion occurs more quickly in a gas than in a liquid because ««.

A molecules in a gas have more frequent collisions than those in a liquid.
B gas molecules are larger.

C gas molecules move randomly.

D on average molecules in a gas are further apart than those in a liquid.

22 Airis used to inflate tyres because ««.
A itis readily compressed.
B its molecules move randomly.
C it serves as a coolant.
D it gets into the tyres faster than other substances.

Science/5124/1/2/2010
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If two liquids are miscible, they must be separated by «..

A  aseparating funnel.
B filtration.

C crystallisation.

D fractional distillation.

The graph below is a heating curve for a pure substance. It shows how the
temperature rises with time, when the solid is heated until it melts, and then the liquid
is heated until it boils.

Temperature (°C) /
gas
115

liquid
17 Zsolid
. : . . time
The melting point of this substance is ¢«
A 0°C
B 17°C
C 100°C
D 115°C
The table below shows the structure of several particles.
Particle | Electrons Protons Neutrons

A 12 12 12

B 12 12 14

C 10 12 12

D 10 8 8

Which particle is a negative ion?

When two atoms share electrons, they form «..
A  anionic compound

B amolecule

C alattice

D an allotrope

Calcium nitrate has the ions Ca** and NO3". The formula of the compound is s«

A CaNOs
B Ca(NOs)2
C Ca(NOy);
D CaNOg

Science/5124/1/2/2010
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28

29

30

31

32

33

What is the formula mass of magnesium nitrate, Mg(NO3),?

A 54
B 74
C 148
D 296

How many moles of oxygen molecules are there in 64 grams of oxygen, O,?

A 2 moles
B 4 moles
C 8 moles
D 16 moles

Hydrogen burns in oxygen to form water. The equation for the reaction is:
2H,(g) +O2(g) —>2H20(g)

How much oxygen is needed to burn 1 gram of hydrogen?
A 2g

B 4g
C b5g
D 8g

Water at 25°C was used to dissolve two compounds. Immediately after the
compounds had dissolved, the temperature of each solution was measured.

Compound Temperature (°C)
Water Solution

NH4C? 25 18

CaCl, 25 45

Which of the following is true about the compounds?

A  The temperature change for NHsCt is +10°C
B  The temperature change for CaCt; is +20°C
C CaCt, dissolves endothermically

D NH4C! dissolves exothermically

Reaction that is reversible, is shown by using the symbol ««.

A =
B o
c =

D «—

The lower the pH number of a substance ««.

A the more OH ions it contains.
B the fewer H" ions there are.
C the more H' ions there are.

Science/5124/1/2/2010
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D theless acidicitis.

34 Which of the following does not produce a salt when it reacts with an acid?
A  Metal oxide
B  Ammonia solution
C Metal hydrogen carbonate
D Pure water

35 Which of the following is not reactive?

Phosporus
Sulphur

Chlorine

OO0 mw>»

Argon
36 No two metals can have exactly the same «..

volume.
mass.
properties.

OO mP

37 During the Haber process, the unreacted nitrogen and hydrogen are «..

A  scrubbed again.

B  compressed further.

C pumped back to the catalyst.

D run into tanks to be stored as a liquid.

38 Which of the following is a neutral oxide?
A Nitrogen dioxide
B  Magnesium oxide
C Carbon dioxide
D  Carbon monoxide
3 Which of the following alkanes has the highest boiling point?

A CHs
B CyHs
C CsHg
D Cs4H1o

40 Plastics which get soft only once-the first time they are heated are called ««

A  thermoplastics.
B thermosets.
C isomers.

D monomers.

Science/5124/1/2/2010
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